MTH 05, TeSt 3, V. 3, ].1/20/].8 Luis Fernandez

NAME:

There are nineteen questions. Multiple choice questions are 5 points each. Free response
questions are 8 points each. For multiple-choice questions, circle your answer.
For free-response questions, SHOW ALL WORK to receive full credit.

1. Write using only positive exponents:
(—2y~02%)(8a~%y2")

9
8y°

8220

3. Divide and write in scientific notation:

3.5 x 107

5x 1070
(a) 7 x 101
(b) 7 x 10%°
(c) 0.7 x 1012
)

(d) 7 x 10!2

2. Multiply: (32 — 2)(2? + 4z — 5)

(a) 323 — 1422 — 23z + 10

(b) 323 + 1022 — 23z + 10

(c) 1225 — 122% 4 10
)

(d) 323 + 1022 + 7z + 10

4. Which of the following is a factor of
4zt — 100227




5. Write with only positive exponents:

1222473\
(%)
(a) —9ybz~6
6

Y
®) g1

9y6

© =5
626
Y6

7. Factor: 422 — 25.

(a) 2(x —5)(x +5)
(

b) (2z +5)(2x — 5)

(c) Cannot be factored.

)
)
)
(d) (2z—5)?

6. Expand:  (a + b)?

(a) a® —b?
(b) a? + 2ab + b*
(c) (a+b)(a—b)
(d) a® +b?

8. Which of the following is a factor of the poly-
nomial  2cx + 5cy — 6dz — 15dy?

(a) ¢+ 3d
(b
(c

(d) Cannot be factored

2z + by

T — 3y

)
)
)
)



9. Factor completely: 422 + 11z — 3 10. Simplify: z $5
x
(a) 2z+1)2z—1) 1
(a) 25
(b) (x +3)(4x — 1)
(b) 2?
(¢) (x4 1)(4z — 3)
(d) Cannot be factored. (c) 78
(d) °

4527 — 2723 + 3625

o0 12. Simplify (42% + 5z — 4) — (=622 — 5z + 7).

11. Simplify.

a) 1022 4+ 10z — 3
(a) —5z? + 32 — 4215 @)
( (b) —22% + 10z + 11

b) —5z* + 422

(c) 36z — 36 + 2722

)
(c) 10z% + 10z — 11
) —24x* — 2522 — 28

)
)
)
) .

(d) =5z + 3 — 422



13. Which of the following is a factor of the poly-
nomial 2 — 17z + 307

(a) (z+2)

(b) (z+15)
(¢) (z—17)
(d) (z—15)

15. Factor completely: 3z — 1522 + 18z.

Free response questions start here. SHOW ALL WORK!!!

14. Give the product in scientific notation.

(6 x 103)(7 x 107)
(a) 4.2 x 100
(b) 4.2 x 10!
(c) 4.2 x 10°
)

(d) 42 x 10'°

923 — 622

16. Divide:
ivide 52



17. Multiply: (22 + 3z —6)(z — 7) 18. Factor completely: 25y3 — 1622y7

19. Multiply: (7z —5)(7x + 5)



